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ΕΝΔΕΙΚΤΙΚΕΣ ΑΠΑΝΤΗΣΕΙΣ 
 

ΘΕΜΑ Α 
 
Α1.       γ              Α2.       α              Α3.    γ            Α4.   δ 
 
 
Α5.      α)  Σ β)   Λ          γ)    Σ          δ)     Σ        ε)    Λ 
 
 

ΘΕΜΑ Β  
 
Β1.   Σωστή απάντηση  (  iii   ) 
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Β2.   Σωστή απάντηση  (  ii   ) 
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Β3.   Σωστή απάντηση  (   i  ) 
 
Εξισωση Bernoulli   :      0 12 ( )g H h = −     (1) 

 

Εξίσωση τροχιας οριζοντια βολή:    2
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ΘΕΜΑ Γ 
 
 
 

Γ1.  Ευθύγραμμη Μη ομαλά επιταχυνόμενη 
       μεχρι    υ=υορ=4m/s 
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Γ2.  F’=0,8N   
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Γ3.  Q=0,8 Joule 
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Γ4.   υορ΄=3,2 m/s  
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 VΚΛ=-0,8V 
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        I1=I2=0,4A 
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ΘΕΜΑ Δ 
 
Δ1.  NΓ=10Ν 
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Δ2.  Α=0,3m 

1
1

1 2
2

1 2 1

2 2 2

1 2 1

0 0,05

( )
0 0,20

0,15

1 1 1
( ) 0,3

2 2 2

m g
Fx m

k

m m g
Fx m

k

y m

K U E m m ky kA A m





 =   = =

+
 =   = =

=  − =

 + =  + + =  =

 



 

ΝΤΖΙΜΠΑΣ ΝΙΚΟΣ ΦΥΣΙΚΟΣ ΑΠΘ 
 

 
 
Δ3.  x=0,3ημ(5t+11π/6)  S.I 
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Δ4.  2 3 /m s =      h=0,6m 
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